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Answers to practice determining whether a precipitate forms:

no precipitate

a) precipitate, b) calcium sulfate, CaSOs, ¢) Ca®*(aq) + SO4% (ag) — CaSOa(s)

a) precipitate, b) iron(I11) hydroxide, Fe(OH)s, ¢) Fe**(aq) + 3 OH (aq) — Fe(OH)s(s)
a) precipitate, b) copper(ll) phosphate, Cuz(POs)2, ¢) 3 Cu**(aq) + 2 PO4* (aq) —
CU3(PO4)2(S)

no precipitate

a) precipitate, b) barium sulfate, BaSO4, c) Ba**(aq) + SO+ (aq) — BaSOa(s)

no precipitate

a) precipitate, b) lead(Il) carbonate, PbCOs3, ¢) Pb?*(aq) + COs* (aq) — PbCOs(s)
a) precipitate, b) cobalt(Il) phosphate, Cos(POa)2, €) 3 Co?*(aq) + 2 POs* (aq) —
Co3(PO4)2(s)

10. a) precipitate, b) copper(l) chloride, CuCl, ¢) Cu*(aq) + CI (ag) — CuClI(s)



